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>> x=[-100:5:100];
>> y=x.^3;
>> plot(x,y)
>> stem(x,y)

NOTE: 
If the length of the increments
are small, then curve will be
more smoother.
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SUB PLOTS
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To draw a circle with centre (1, 3)

2D PLOTS
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Circleclc
clear all
t = linspace(0, 2*pi, 101);
x = 1 +2*cos(t);
y = 3 +2*sin(t);
plot(x,y,'r.')
axis equal
xlabel('x-axis')
ylabel('y-axis')
title('Circle‘)
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POLAR PLOTS
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r = cos(2 )

>> syms theta
>> ezpolar(cos(2*theta))
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t=linspace(0,2*pi,500);
x=cos(t);
y=sin(t);
z=sin(5*t);
xlabel('x-axis');
ylabel('y-axis');
zlabel('z-axis');
title('3D Curve');
comet3(x,y,z);
plot3(x,y,z);

3D PLOTS
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3D PLOTS

[x,y] = meshgrid(-2:.2:2);
g = x .* exp(-x.^2 - y.^2);
surf(x, y, g)
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